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var x xp b k kp g mu phi CC YY;
varexo ed;
parameters alpha m Kb beta betap a ¢ z Rs gs bs ks kps xps phis mus gs;

load param km;

set param value ('alpha',alpha);
set param value('m' m);

set param value('Kb',Kb);

set param value ('beta',beta);
set param value betap ,betap) ;
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set param value('a',a);
set param value('c',c);
set param value('z );
setiparamivalue('Rs
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s);
set param value (' ,qs),
set param value S);
set param value ks)
set param value 'kps , kps) ;

set param value
set param value

'xps', xps);
'phlS ,phis);

set param value('mus',mus);

set param value (' ,qs)

model;

% (1) Euler equation bonds farmer

1 + phi = (beta* (l+phi(+1)) + mu)/betap;

% (2) Euler equation capital farmer
g* (l+phi) + beta*c*phi(+1l) = beta* (l+phi(+1))*((l+ed(+1l))*(a + c) + g(+1)) + mu*g(+l);

% (3) Budget constraint

g*(k = k(=1)) + b(-1)/betap + x = (l+ed)*(a+tc)*k(-1) + b;
% (4) Borrowing constraint
b = betap*qg(+1) *k;

% (5) Euler equation gatherer

g = betap* ((l+ed(+1l)) *alpha*(z + kp) " (alpha-1) + g(+1));

% (6) Resource constraint

x + m*xp = (l+ed)* (a+c)*k(-1) + m*(l+ed)*(z + kp(-1))" (alpha);
% (7) Capital market-clearing

k + m*kp = Kb;

oo

(8) non-tradeable constraint
= c*k(-1);

b

% (9) Aggregate consumption
CC = x + m*xp;

% (10) Aggregate output

YY = CC;
end;
initval;
x = c*ks;
k = ks;
kp = kps;
a as;

b = bs;
mu = mus;
phi = phis;
Xp = XpPS;
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steady;
shocks;
var ed = 0.0011"2;

end;

stoch simul (order=1, irf=12, nograph, ar=0);



